VINTAGE MORTISE 6 ASSO MORTISE 2

RISULTATO SET TOTALE

SQUADRA A SQUADRA X 1 2 3 4 5 SET PUNTI |PARTITE
A XA X A XIAIX AIXIAIXIAI X|A|IX
A [CIBIN X [LARENTIS 1113|119 (10|12 | 5 | 11 113137450 | 1
B | GREGGIO Y |PIOMBINO 1158|1111 3 |[11]| 5 311/41/24| 1|0
DP|GREGGIO-CIBIN DP|PIOMBINO-ZILIOTTO |13 |11 9 (11|11 7 | 8 |11 /11| 4 | 3 | 2 (52441 |0
C |BERTON Z |ZILIOTTO 1210 11| 4 (11| 9 31013423/ 1|0
B |(GREGGIO X [LARENTIS 11,7 (116 |11 5 3/0(33/18| 1|0
A |CIBIN Z \ZILIOTTO 13(15| 4 |11] 8 |11 0 3|25/37|0 |1
C |BERTON Y |PIOMBINO 11/ 3 (11| 6 11| 5 3/0(33/14| 1|0
B |(GREGGIO Z (ZILIOTTO 11,6 |8 (11|11 7 |11 7 31114131/ 1|0

C X 0|0

A Y 0|0
TOTALI| 19| 10 [296|236| 6 | 2




